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MATH QUIZ 4 
 

Answer all questions carefully. You have three chances at this quiz. 

1. QUESTION          1 point(s) 

The sum of 3 numbers is 645.  If 2 of the numbers are 126 and 237, what is the third number? 

 

 

Answer=___________________ 

 

2. QUESTION          3 point(s) 

Which of the following represents ⅝? Select the answers.

 

3. QUESTION          1 point(s) 
Richard bought a toy for 84 dollars and won 67 dollars in a game of chance.  When he got home he 

counted 135 dollars in his pocket. How much money did he start with? 

 

 

 

 

Answer= _______________________ 
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4. QUESTION          4 point(s) 

Match: 

SORT ELEMENTS 

o 40 + 80 + 1 + 5 

o 641 -60 – 8 

o 125 + 375 -1 -10 

o 641+60 + 8 

41 + 85  641 – 68  641 + 68  124 + 365 

 

5. QUESTION          3 point(s) 

Calculate: 

a. 7329 + 654 

Answer =_________________ 

 

b. 3907 + 3845 

Answer =__________________ 

 

c. 6387 + 3014 

Answer =________________________ 

 

6. QUESTION          1 point(s) 

Select the numeral for: 

two and four-fifths. 

 245   2⅘   254  
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7. QUESTION          4 point(s) 

Complete the following. 

a) Complete the statement: 

845 + _______ =  1025 

 

b) Type in the missing values in the expanded notation below. 

5472 = (5 × ____) + (4 × 100) + (___ × 10) + (2 ×1) 

 

c) Fill in the missing numbers in the sequence: 

6854, ________,  5854,  5354 

 

8. QUESTION          4 point(s) 

Determine: 

a) Express 3⅑ as an improper fraction. 

Answer = _________________ 

 

b) Fill in the missing fraction. 

 

 
9. QUESTION          1 point(s) 

Estimate: 124 + 225 

Ans:__________ 
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10. QUESTION          7 point(s) 

Answer the following questions. Write your answers in the space provided. 

a) Write in words: 

6422 - _______________________________________________________________________  

 

 

 

b) Arrange the numbers in ascending order. 

6102;   6047;  6098;  6018 

Answer = __________     ___________    ____________     ___________ 

 

c) Approximate 7852 to the nearest thousands. 

Answer = _____________________________________________________________________  

 

 

 

d) Write the symbol, > or <, in the box below to complete the statement correctly. 

 

8716   _________   3459 

 

  

 

 

 

 

 

 

 

 

 

 


